
Q1: 

 A: Cheek whether the Relation R defined the set  𝐴 = {𝟏, 𝟐, 𝟑, 𝟒}  

          𝑅 = {(𝒂, 𝒃)      𝒂𝟐 + 𝒃 + 𝟏 ≥ 𝒃𝟐}   is Reflexive  and Symmetric and 

Transitive. 

        

B : Let  (𝒇°𝒈)(𝑥) =
𝟑𝒙+𝟒

𝒙+𝟏
   and   𝑓(𝒙) = √𝒙𝟐 + 𝟗   Find   𝑔(𝒙). 

 

Q2: 

 A: Write this in equality by using (absolute value). 

−𝟏𝟒 ≤ 𝟒𝒙 + 𝟕 ≤ −𝟏𝟐 

 B :   Find the derivative this is function by using defined. 

                 𝑓(𝑥) =
𝟑

𝒙𝟐   

Q3 : 

Is the function defend by: 

𝒇(𝒙) = {

𝟐−𝒙−𝟐

𝟐(𝒙+𝟐)

𝒙
𝒊𝒇 𝒙 < 𝟎

𝒙−𝟗

𝒙−𝟑
𝒊𝒇 𝒙 ≥ 𝟎

}   Continuous at   𝒙 = 𝟎 

 

 Q1/  
         Cheek whether the Relation   R defined the set     𝑨 = {𝟏, 𝟑, 𝟓, 𝟕}  

𝑹 = {(𝒂, 𝒃) ∶    
𝒂𝟐+𝒃

𝟐
= 𝒆𝒗𝒆𝒏    عدد  زوجي   }   Is Reflexive , Symmetric 

and                        Transitive. 
       

 



 Q2/  

       A/   If  𝒇(𝒙) = √𝒙 − 𝟏     and 𝒈(𝒙) = 𝟒𝒙𝟐  Find 
(𝒇°𝒈)(𝒙) , (𝒈°𝒇)(𝒙) 
       
 B/ Write the following inequality by using (absolute value) 
 

−𝟔 ≤ 𝟐𝒙 − 𝟕 ≤ 𝟎 

Q3/  

       Find the following:    

           SUP   ,   INF,   Max, Min  for this set: 

            𝑺 = {  𝟑 −
𝟐𝒏𝟐+𝟑

𝒏𝟐 +𝟏
       ∀𝒏 ∈ 𝑵} And find If they Bounded 

or not        

Q4/  

          Find: 

1.  𝐥𝐢𝐦
𝒙→𝝅

 𝟒 𝒆
𝐬𝐢𝐧 𝟐 (

𝒙

𝟐
)
 

 

2.  𝐥𝐢𝐦
𝒙→−𝟏 

𝒙𝟐 +𝟓𝒙+𝟒

𝒙𝟐+𝟐𝒙−𝟖 
  

 

3. 𝐥𝐢𝐦
𝒙→∞ 

(𝟏−𝟑𝒙)𝟐

𝟒𝒙𝟐 −𝟕
 

 

 

 


